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O VI-V3-v2=12
@mx V2 =0.2

® V6+ V4= 10
1
@3x/§x«/1_7‘/§—6\/§

® 2v2+ VI8 - V50 = -2V30

@ 3V2x2V3x V3 =18V2
®2v2+3V2-5v2=0
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@ x2+3xy-2y2 = (2x+y) (x - 2y)
@x-1-y+1=0-1) -1

® P —dx=1x(x-2)°

@ x* -y’ =2x+2y=(x+y) (x-y-2)

® 2x+1)2-(x-2%=0Bx-1)(x+1)

@ —dx=x(x-2)(x+2)
@Dx -y -2x4+2y=(x-y)(x+y-2)
® @2x+1)*-(x-2)>=(3x-1)(x+3)
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@sz @ x=-2 @ x=14
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y=3x2-12x+1
=3(x-4x+4-4)+1
—3(x-2°%-11
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Vi2x = V22 x 32 x 2 x x = 6V2x
x =2 o|H A7) =g,
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® VB0 =45 @ V3Z=4V3
® V20 =25 @) V500 = 5v10

® V1000 = 10 V10

@ 500 = 10V5




9. Vi50=aV6,2V2= Vb & W, a+b 2 F2?

® 6 @ 8 @10 @i o1

V150 = 56 La=5
242 = V8 ~b=38
La+b=5+8=13
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ol Wl, a — b9 Fh= F5HA?

® -1 @ 3 ® 0 @ 2 ®)4

B

2x—1=A, x+2=BZ *35}1H
(2x-1)% - (x+2)?
=A%2-B?>=(A+B)(A-B)
=(2x-14+x+2)(2x-1-x-2)
=Bx+1)(x-3)

La=1,b=-3
La-b=14+3=4
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x(x+3) =88

X2 +3x-88=0

(x=8)(x+11)=0

x=8(.x>0)

oA £ 50] g2 8 4+ 11 = 19°|t},
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o, 2 (x+y) o] g= THH?

@ V6 @ 26 @4\/3 ®6v6 ® 8v6

FEshetH, x = V3- V2,y= V3+ V2
2(x+y) =2(V3- V2+ V3+ V2) =2(2V3) =43




